EARAROBREBRT —5 XN—ZXBISH—F

20226828 (A) 4EIPIRISH

W3 EC4—2 C4 UYSH—E BN R
[xE&] 1% :300,000H  2&:84,000H 3% :63,000H ./ 43%&:42,000M . 53&:21,000 3
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
EZNAY i 3 5%21%%: 1:&)).3 1-1-1-1 [39.9| - 1 448 ﬁ@gi (AiEs)
RALYTSYIE B:aYtEATUFRZ @8 | o=
ISASITA— LA E{IA@ (11:511/.21) 3333 [39.9 — | 3 | 46 gﬁ\%gg (i)
2 == Q (+2) 3 =
R:RITT1 B:TSAFIVRVR FRE®S
o~ R lEg | gy | e [er - [ legn e,
R:FA—RIIRTF 4 BFIARAFFPUR #Aat 54X
EAYURYHIL i gﬁﬁ% 1:?31).8 6666 | 40.2| - 6 | 416 ggﬁ %(:Iti’a’}ié)
RN—EYIv— BIIRATVAL—Y (-2) #HEI7—LA
A4HORPKT T o4 gﬁ)ﬂﬁéfﬂ 1:(522).2 5-5-5-4 | 40.7| - 4 (5_062) gg%m [tsms)
R:FOYATT B:hLATA AT i —3=
5 " 44 | BlEKT 1:52.7 3-3-3-4 | 41.4| — 5 542 | \EET (ObisE)
61111 />\<.4‘/a_'j45‘7\ o . 56.0 21/2) () |BUEBEE
RiRyI—9ILYI B:XA(Yavrdy NCLe]
- ~ 5 | REENL 1:53.5 7-7-7-7 |40.9| - 7 | 40 |TERAL (LB
7155 /_\J |"7“'fD/T|J_“ 54.0 7 (g) |EHHR
RiT—ILRAAO— B:VILEX S R
@ 1—F—&RIEL
13—7— 2,3,(1,7),4,6,5
20— — 2,3,(1,7),4,6,5
33— — 2,3,(1,7),4,6,5
AS—f— 2,3,7,(1,4),6,5
o ILRE
BB 2 2804 JA R 2-7 190H 5 & 2-7 530 3EE 2-3-7 510
B B 2 1309 2-3 1809 =51 2-7 1,000 3EH 7=7=3 3,290
7 180 3-7 310

ABIC OV TRUTEREERRODDZE. THRIIZEL.



